H & 0l & AHS B Ml A

0258 =0lIet =Xt SE3H &X
SA =R
M Mas FU28 A4
oSl EXE HE(FE SE3) (el mel)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
k2| ot 6,793,777 5,770,181 1,023,5%
H=% =23 &4 6,245,068 5,236,882 1,008,186
=AY BE(FIUHE S3H) 2,238,000 2,608,000 A370,000
Ofotz s8=xtd &4 360,000 0 360,000
401 AlZHIZ SO 360,000 0 360,000
01 A28l 360,000 0 360,000
ObfotE E8F=IE x4
360,000,000 360,000
JBIFRAY 18,000 18,000 0
301 EtE NS 18,000 18,000
14 JIEt2 83 18,000 18,000
ODRIFIIAIL OHEIH)
18,000,000 18,000
SEFNE WY X2 60,000 60,000 0
402 2I2FX=01 & 60,000 60,000
01 QI XHE AL E R (KM TH) 60,000 60,000
ORE=IE WA X3
60,000,000 60,000
SAHY SYFY =d 1,800,000 0 1,800,000
401 AlEHIZL S0 1,800,000 1,800,000
01 Al&H| 1,800,000 1,800,000
OlE (=)0 3LF=E =4
1,800,000,000& 1,800,000
SYFXY 2S(FRY SE3H) 3,235,330 1,827,675 1,407,655
SEFIE 2el 2,897,240 1,344,643 1,552,597
101 @1A4H| 327,600 57,398 270,202
04 JIZtNZ22 XS 2+ 327,600 57,398 270,202
OXSEFRE 22l JItHN22 X el
2,700,000« 128 +2& 64,800
Oxg UUE 23 SEFXUE 22
1,500,000& x 123 +2&H 36,000
OFIHE UHE 23 SF=IE 2l
2,700,000 «3& »4H 32,400
OSE2HHE 27
2,700,000« 122 +6< 194,400
201 2= 568,180 260,224 307,956
01 At2t2lt] 418,480 184,864 233,616
OANSHEHHEER) HER
17,000,000 17,000
OUtHs 15452 tHR= 70,000,000& 70,000
OHzE2U=IE U=R2
200,000,000 200,000
OXg sg=xY 29 75,480
20| |AZel 84
170,000& * 12 2,040




2A: =Xk
M Mas FA2s A4
el DYEXE 29 (EXE SH5|H) (Shol: % 2)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
S0l ZRAZ B
600,000 *20H A~ +6& 72,000
MBIIC BRL4R
48,000, 000& *3% 1,440
OSYFXE 2IEE S
12,500,000 12,500
OZE=NE YBL4E
600, 000& 2000 2~ 12,000
OBYEXT LFEIISAE
1,200,000 *200H A~ 24,000
Osty =XH& e =22 M
75,0003 x50 04 A +23] 7,500
02 S32ZH| 149,700 75,360 74,340
OXGBIEFIIE 29 148,200
&IIe2 500,000 x2000 A+ 12& 120,000
=EQ3 150,000 100 A6 9,000
- ENRB 80,000 *20H A+ 122 19,200
OFXAIA 2te| Q2 Xe 22l 1,500
B8 400,000& 400
- KbS XA 100,000& 100
INE=E=IN 1,000,000& 1,000
203 R =&IH| 1,500 1,500
03 AIHF=RIHAR2=XIH| 1,500 1,500
OFXHE 2] & &5 23 g9
1,500,000& 1,500
308 AXIHHSOIA 426,480 247,521 178,959
14 J|EIRE= 426,480 247,521 178,959
OdtEHs SYFIHE = AakEt
74,200,000 *50% 37,100
OUH2E DYENY 2N
18, 360, 000& *50% 9,180
OUEIS(AMOIZAR) SSEFIE £=As
6,000, 000& *50% 3,000
OSZ0I2 ZAZME 2t
24,000,000 *50% 12,000
OUE JSHUR BLEF=IE = AE
110,000, 000& *50% 55,000
OBYS ADYENE 2eiare
20,000, 000& *50% 10,000
OUHSHIS DEFRE S48
8,600,000 *50% 4,300
Oge|lsHdE 22l XIot2YE=XHE 2 Arst
54,000, 000& *50% 27,000
OMBB BHFXT 2YNB(SEHSIYD
) 17,800,000 *50% 8,900
OUE3s SYFIHE = atst
130, 000, 000! *50% 65,000




SA: =Xkl
BH: gap EX28 24
Gl ZUERE 2O(ZXE SHsH) (12l M2
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
OZU Z0IF HSHE SEF=XE =4
& 0,000, 00024 #50% 15,000
ORHIS TEFXY +YN
60,000, 0002 450% 30,000
OABHEMACIT BHFIIE S48
300, 000, 000 #50% 150,000
401 Al HIZL 2018 1,542,480 778,000 764,480
01 A=l 1,542,480 778,000 764,480
OFIHZHMAI A 2
90,000, 000& x7H 630,000
OSE2MHE & 300,000,000 300,000
OZBEFxE MEE |
300,000,000 300,000
OsE=XE A&
100,000, 0003 %304 2~ 300,000
OAAIE oHdBlEl Y HEIIS
100,000 *9H A+ 122 10,800
O&JI&H| e 2] 89
140,000& « 122 1,680
405 KHAHH SH 31,000 31,000
01 T ESF SHI 31,000 31,000
OFXIAIE 22 HRE Xt 1Y
31,000,000 = 1CH 31,000
FHA HEFIE 22 338,090 483,032 A144,942
201 L= 31,800 38,803 A7,003
01 AFS2t2ltl 31,800 38,803 A7,003
OFNA HEFIHY 2EES 16,250
OHLH E X & 100,000 *5JH* 150 2 7,500
NN 15,0002 *10JH* 1500 2 2,250
e 100,000 *157H A 1,500
- =gOIAM 2 65 5,000,000& 5,000
OCUs 468-13 =Xt& X1 Xt
8,650,000 8,650
OtlE S 3102 =xt& 2X it
5,200,000 5,200
OSFHL AE2(BES10-1582 3EX)
1,700,000 1,700
307 212t01 & 272,134 310,189 A38,055
05 BIZt2(& = 212,134 310,189 A38,055
O=FHA dE=XtE 52 ===
485,952,000 *56% 272,134
308 AHXIEMSOIH 4,156 4,040 116
07 HXHH2LEES 4,156 4,040 116
OSEFANIEEANLY SERAEs RES
, 156,000 4,1%
401 AIEHIZL R OHYI 30,000 130,000 100,000




SA =R
M Mas FA2s A4
9l DHFRE SY(FIE SLEH) (cre): xg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 30,000 130,000 100,000
OFHNEEFIE AIEHEL]
30,000,000& 30,000
WESEF N (FHE SLE3IH) 77,738 801,207 N29,469
LoIEEIe 29 267,568 244,218 23,350
201 ger=3| 225,568 219,848 5,720
01 AtR2te|H] 28,000 29,600 A1,600
OAMESXIA M 6,000,000& 6,000
O=Zgd &H 22,000,000 22,000
2 35244l 197,568 190,248 7,320
ORQIEItet Molg
1,300,000& * 12& 15,600
OFFXICHS STLBAIAL OIEHBIM Al
22 (4E4) 30,000 *1CH* 12 360
OCCTV =4 HS(EPIN)MEIA 0182
100,000 «68CH* 122 81,600
ORQUES=IIN2 RXI24
53,0002 x687H* 12& 43,248
O Xt AeAte AESEXAM &8 VS
4303 +11,00000 122 56,760
405 KHaHE SH 42,000 24,370 17,630
01 Tt ESF=H 42,000 24,370 17,630
ORole=3|H2t 01&
15,000,000 * 14| 15,000
Ot XX AIAE
27,000,000 x 14 27,000
=Y = 3k g5 266,627 267,264 NB37
101 21AH| 76,915 68,395 8,520
04 JIZtN2Z2XNSE+ 76,915 68,39% 8,520
OF¢o H55tct 28 HREX 76,915
QIHHI(FEXEE)
89,7762 x4 B 28U +6E 60,330
=UHASEERE=
120,658,944 5% 6,033
=UALEH RS
120,658,944 %3.545% 4,278
LoEAIIRUYEE BE=2
4,278,000& *12.95% 555
- IEE2ERES 120,658,944 %1.75% 2,112
MHEERES 120,658,944 1% 1,207
SAZeE 300,000 *4H 1,200
JEY0=2 300,000 4 1,200
201 er23| 99,312 102,684 A3,372
01 At2teltl 36,868 37,108 A240
O=gdxitts SNSEANAEY S22+
650,000 * 12 7,800




SA =R
BH: g=s =X 24
CHR: WSEE N (FXE SE3IH) (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OH=F Wld AR23
300,000 * 122 3,600
Oot=a =4 10,368
B o 8, 0002 4222212 8,448
FOWAN Y T BEY DEXE
8,000& »2E »120 1,920
Ot 20 S M
802 *22, 5000H 1,800
O=sdg = -dX 5 82 13,300
e QHHEXIE MIZ
200,000 3004 A 6.000
ORI0IBE TS S oHYE X
200,000 2694 A 5,200
S0 M 70,0002 *30H 2~ 2,100
02 s3=gHl 62,444 65,576 A3,132
ogEg 28I *X
400,000 *10CH +8% 320
OFXEE RUESAI(TRS) 0182
45,0002+ 10CH » 122 5,400
OFFXCHE SNLBAAL SMZ
300,000 * 122 3,600
OFEIEE SNLEAAE DEAMSS (X
&) 44,0002 «3CH* 122 1,564
OUTART] SBAILY RN+
330,000& * 122 3,960
Ot xte 22 47,580
SEXE 24 3,000,000 «3CH 9,000
28= 800,000 +3CH 2,400
- NS XA 60,0002 *3CH 180
PNE= SN 1,000,000 *3CH* 12 36,000
203 HR=AH] 2,000 2,000
03 A=A PR S| 2,000 2,000
OF - IAE=28 S 223
2,000,000& 2,000
301 LELE NS 88,400 94,185 ADb,785
14 JIEt2d= 88,400 94,185 Nb,785
OFXEA E20)
52,0003 x20H «85&! 88,400
=Y = - X A 30,000 40,000 10,000
401 AlZHIZ S 0HbI 30,000 40,000 10,000
01 A28l 30,000 40,000 10,000
O=Y X gXIA4 30,000,000 30,000
= - IXtIE HelE otE 180,899 205,874 N\24,975
201 et 3| 175,509 200,874 N25,365
01 At22t2l] 44,550 34,19% 10,35




SA =R
M Mas FU2s A4
Cel: NSEY HU (=X SE3/H) EERED
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O% - XL Mg oy 44,550
AN MIE 85,0003 *1002f A 8,500
- ESSAA A 85,0003 *302f A 2,550
HE=SEE MHE 85,0003 »2002f A 17,000
- AFEE(GHM) SO =LAR
1,000& #5002 500
-T2 &4 15,000,000 15,000
- OBE = 200,000 *5H 1,000
02 S3=gHl 130,959 166,679 A35,720
oRE= 130,959
DXIA(SI) 2,53021%19, 0000 48,070
SEI(L8h 4302 %14, 0000HK 6,020
gRSAIAM (L 4302 +9,0000H 3,870
eSS (2e
4303 *14,00001x 122 72,240
ek 2= (02) SXM(SII)
2,530 *3000H 759
203 HR=AH] 390 0 390
03 A= PR F&IH| 390 0 390
OSRA(RINH) 22X HES#AH S
30,0002 %13 390
303 Zal= 5,000 5,000
01 Z&= 5,000 5,000
OMEA d=2ai= 500,000,000 * 1% 5,000
NSxt SSad X 19,278 36,824 A17,546
201 er23 | 19,278 19,078 200
01 At2teltl 3,504 3,504 0
OXSxt SEsE X 2HE5E 34
8,000 3 +3dx 123 864
Oogzgdis+ s 7
150,000 *1H 150
OHSEHNZZE 7 3002 *300H 0
OXNSXHEEYHSHIRX A+-=E3
,000& *20024 *30% 2,400
02 S3=gHl 15,774 15,574 200
OAOIEEZ Ol2= 60,0002 1CH* 12 720
OgRE g2l 5,750
22 1,200,000 = 1CH 1,200
- NS XA 350,000 *1CH 350
A=A 350,000 «1CH*12& 4,200
o=sEz 4,048
- MENDZ(S01) 2,530& *1,600 4,048
Ogiss Xl 23 AAE FAEx FE= 5,256




SA: =Xkl
M Mas FU2s A4
ol WSS M (FXE SE3H) (12l M2
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
gis g AXAAE SXIZ==H|
348,000 * 1204 4,176
Y= Y OMYAIAIAY /X224
90,0002« 12JH 2 1,080
NERLEEs Bt =+ 7,366 7,027 339
201 23] 7,366 7,027 339
01 AtR2telbl 1,355 1,3% 0
OS2+ M& 66,000 *5H 330
Ous=eRgs XA M
75,0002 +32F A 225
OusS=eRgs ¢UE MH
400,000 x25 800
02 S22l 6,011 5,672 339
oREz 6,011
ANEES SETA CHHZ ()
4302 +1,2000H 516
SOHY OlN2 ZE(YE
4302 *1,2000H 516
- DKM (SI1) 2,530 *1,2000HK 3,036
- DRIA (e 4302 %2000H 86
- SEE(SD0) 2,530 *4000H 1,012
SEH(Y) 43024 +2000} &
UMD Y SX(SII)
2,530 *3000HK 759
HY2HAHI (=2l ) 548,709 533,299 15,410
CIARHHI(F=XE SE3IAH) 548,709 533,299 15,410
el 2d| 548,709 533,299 15,410
101 e124d| 542,309 526,509 15,800
03 BRA(RIAH)22RHE S 542,309 526,509 15,800
OULEYR SR (RIIHA)22RH13Z) 524,091
Jl2s
2,688,060 7 *12242,517, 2703 «6Z » 123
407,041
=R 12,480
-SSR
40,0002 x13H* 122 6,240
-E=g(0IEH
40,0002 x13F 128 6,240
- S|4 48,977
-HHSAH| 140,000 x 13« 12& 21,840
-SE S0l
2,688,060 ~40%+7H+22]+2,517, 2703 x40%+6
23 27,137
-gtRER Y
2,392,4803 x7H+2,024,2003 «6H 28,893




2N =Xr2te|
M HASAAY|(=Xt2el )
CHol: QIS (FRE Sa|H) CERL
_ olE|
SA - B C(BH) - MISAY - BAS Ofl Aot 05”55 HR=2
SUA2LLH (=Y 25 NEXT)
180,000 12 x 122 25,920
L BRE(RIHHIZT SHE
60,0002 13- 780
OZ2LZ(RIH 22X AUa0H=
3,568,780 x40%+7H 43,427, 110 *40%*6 = 18,218
202 04| 6,400 6,400
01 2L Y| 6,400 6,400
OZ22L2E(2I|HF) 22X o4H](3H)
6,400,000 6,400









